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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2016 C L«X, 2017 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy ( 7th Paper : Social Demography and  
Social Change ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤X, ◊[˝[˝Tˆ¤X A[˝e Y“G◊TˆÃ[˝ 

YÁÃ[˝&◊Ã[˝Eı a+EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ◊[˝◊\ˆ~ Y“^«◊N˛GTˆ =YÁVÁX- 

a]…„c˜Ã[˝ CYÃ[˝ ◊[˝ÿôˆÁ◊Ã[˝Tˆ ◊_F«X* 

 (G) ]ÁEÔıaÀ-AÃ[˝ ◊[˝Y¿„[˝Ã[˝ Tˆ√º¯ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) a]Á„LÃ[˝ Y◊Ã[˝[˝Tˆ¤„XÃ[˝ •Á◊≥•Eı Yà˘◊TˆÃ[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) a]ÁL ◊[˝[˝Tˆ¤„XÃ[˝ ◊[˝◊\ˆ~ W˝ÁYm◊_ =‰{F EıÃ[˝”X* 

(F) ]ÁEÔıaÀ A[˝e Â\ˆ[˝„_X-AÃ[˝ a]ÁL Y◊Ã[˝[˝Tˆ¤„XÃ[˝ 
]Tˆ[˝Á„VÃ[˝ T«ˆ_XÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) aÁ]Á◊LEı =~Ã^X ÂV„`Ã[˝ Y“ÁE ı◊TˆEı a+„VÃ[˝ =YÃ[˝ 
◊Eı\ˆÁ„[˝ ◊X\ˆ¤Ã[˝`›_ ?  

(H) ◊[˝`üÁÃ^„XÃ[˝ Tˆ√º¯◊ªRÙOÃ[˝ a]Á„_ÁªJÙXÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

 (I¯) LX◊[˝p˚ÁX ◊Eı\ˆÁ„[˝ ]ÁX[˝ a]ÁL„Eı Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝ ? 

 (ªªJÙ) LXaeFÓÁ ◊XÃ^‹óˆ„SÃ[˝ Âl˘‰y \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ ÂXCÃ^Á ◊[˝◊\ˆ~ 
Yà˘◊Tˆm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) aÁ]Á◊LEı LX◊[˝p˚ÁX [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

(F) aÁ]Á◊LEı ◊\ˆ◊w¯ C =Y◊Ã[˝EıÁPˆÁ„]Á ◊Eı ? 

(G) Yg«◊L[˝ÁV› a]ÁL [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

(H) W˝X› %[˝EıÁ`„\ˆÁG› Ê`“S› ◊Eı ? 

(I¯) Â\ˆÏ„GÁ◊_Eı ◊XW˝ÔÁÃ[˝S[˝ÁV ◊Eı ? 

(ªªJÙ˜) ◊`„îÁw¯Ã[˝ a]ÁL EıÁ„Eı [˝„_ ? 

(ªK˜) EıÁ]Ó LXaeFÓÁ Tˆ√º¯ ◊Eı ? 

(L) %Á◊V] aÁ]Ó[˝ÁV› a]ÁL ◊Eı ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the relationship between social 

change, evolution and progress. 

(b) Elaborate the various technological factors 

of social change. 

(c) Critically discuss Marx's theory of 

Revolution. 

(d) Discuss the dialectical method of social 

change.  

2. Answer any three questions  : 12 × 3 = 36 

(a) What are the various steps of social 

evolution ? 

(b) Compare Marx's and Veblen's idea on social 

change. 

(c) How does the development of a society 

depend on a country's natural resources ? 

(d) Critically discuss the concept of 

globalization. 

(e) How does social demography affect human   

society ? 

(f) Discuss the various methods adopted by 

India in order to restrict population growth. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What do you understand by social 

demography ? 

(b) What is Base and Superstructure ? 

(c) What is a capitalist society ? 

(d) What is a Wealthy Leisure Class ? 

(e) What is geographical determinism ? 

(f) What is meant by Post-industrial society ? 

(g) What is the theory of optimum population ? 

(h) What is primitive communal society ? 

    


